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The economy’s natural rate of unemployment refers to the amount of
unemployment that the economy normally experiences. Cyclical unemployment
refers to the year-to-year fluctuations in unemployment around its natural rate, and
it is closely associated with the short-run ups and downs of economic activity. The
designation natural does not imply that this rate of unemployment is desirable.
Nor does it imply that it is constant over time or imperious to economic policy. It
merely means that this unemployment does not go away on its own even in the
long run.
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1. (15%) Suppose that the demand for a commodity is given by Q=250-5P, the
marginal cost of production in this industry is MC=10+0.6Q. If it is a perfectly
competitive industry, what will be the equilibrium price and output?
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